m 2-2-4 TR Z5IRECEI N TE M 5R

TREIIDARBLERIBREME - MENBABRTHEE  EREZREFRIENRNIBAEEA T8I
MOTION RRIE P EHTVBE - KRB REE - HEGKEEUEZIBSIEE ; MELEY
BIR - BERICIEBEE - AEALRAERN  EHEASRERLIZIESKEE -

TBI MOTION £ EmE tARENZEE - EREZASKEEHA CEERRAKE - HRA
FEHZESEBVNEFPMS 28 EEF0 -

RECE R B BN AR L -

TRH20 FN-2- -1200-N-Z20-II-K+ N3N
| |

o © ® @ 6 ® @ ©) a ® ® ®
O @ ©) @
YN T NopliE ] AESE R~ #i1%
T R: =R S EAE 15, 20, 25, 30, 35, 45, 55, 65
X: 55k C ha%E
H: 2%
® ® @
BIAREET BREE B BB R B EE
F. BAR S:ma A EX:2 MACSE | 1R%E (2% AS8)
V: AR N: 1=
L &4
E: NEH
© D) ® ®
MERE HEER r B M BEFTER BRI LT
B :mm N: ZiER ZF: ks I o E#E
H: 4% Z0: E[EFR K N8R
P B2 AR Z1: B3a 8 X B8R AL
SP: B4R 72: BIERR
UP: &RIE#R /3. BB
®
BIRFREEE BEEREEE
S: 1A S: 1A
Bl 3= Bl 2
N1 $E & N1 $E &
P: LS P: LS
N3: #E{E5R N3: $E{EiR
N4: 2 EFE N4: 2 EFE
N5: #8 2% N5: # 2%

BB BIISREREEER - AIERIER -

www.tbimotion.comtw A6



PR L BT SR

2-2 TRH / TRS / TRC %5l FRIZERIX B R4 B E

TRH-V S#EEZIIERRTER

N L
W .
axé | —B : —
H H
i i oD ]
W = :
S > BY 25— e
JTIT | T ——
Luf L) 4
w2| w1 | od| ||
F
e 4AEEIRHE (mm) BEHRR T (mm) BB (mm)
o
H{W2| E | W|[B|)J L L1 QX! | T1| H4L N (W1|/H1|@D| h |@d| F
TRH15VN 5691|395
28 1951323412626 M4X8 |95 | M4X0.7 | 7 |15 13 |75] 6 |45 60
TRH15VL 654 | 48
TRH20VN 36| 75.6| 54
30| 12 |46 44 |32 MS5X7 | 65| M6X1T | 14 | 20 |165[95|85| 6 | 60
TRH20VE 501996 | 78
TRH25VN 35| 81 59
40 |12.5|5.8| 48 |35 M6X8 [11.5] MeXT |14 (23120 11| 9 | 7 |60
TRH25VE 50| 110 | 88
TRH30VN 40| 96.3 | 69.3
45 1 16 | 7 | 60 [40 M8X10 | 11 MEXT | 14 |28 |23 |14 |12 | 9 | 80
TRH30VE 60 | 132 | 105
TRH35VN 501 109 | 79
55118 | 75|70 |50 M8BX10 | 15 | MeXT |14 |34 |126|14 12| 9 |80
TRH35VE 72| 153 | 123
TRH45VL 60 | 140 | 106
70 120.5| 89 |855|60 M10X15 [205| PT1/8 12545 |32 |20 | 17 | 14 |105
TRH45VE 80 | 174 | 140
TRH55VL 751 162 | 118
80 |23.5] 13 |100|75 M12X18 | 21 PT1/8 (12553 |44 23|20 |16 |120
TRH55VE 95 1200.1|156.1
TRH65VL 70| 197 | 147
90 |315| 14 | 126 |76 M16X20 | 19 | PT1/8 |125|63 |53 |26 |22 | 18 |150
TRH65VE 1201256.5|206.5

B XN ~ UN R[S ERCH - B3k 2.10.1 - AEREMAECHE SR A6 -

A64  www.thimotion.com.tw



BEEH BErEF B Ef
it (kgf)  [Mx (kgf-mm) My (kgf-mm) Mz (kgf-mm) B | B

C | Co BB BER | #Em | =8m | #Em | (k) | (kg/m)
TRH15VN | 1206 | 2206 | 16,436 14,884 | 70,960 | 14,884 | 70,960 | 0.1 .
TRH15VL | 1343 | 2574 | 19,175 20429 | 95224 | 20429 | 95224 | 022
TRH20VN | 2050 | 3696 | 37,334 33,268 | 157,298 | 33268 | 157,298 | 0.31 o8
TRH20VE | 2553 | 5058 | 51,089 63229 | 284163 | 63229 | 284163 | 044
TRH25VN | 2581 | 4503 | 52,239 43,407 | 207,324 | 43,407 | 207,324 | 052
TRH25VE | 3248 | 6255 | 72,554 85,112 391,311 85,112 391311 | 0.77 1
TRH30VN | 3807 | 6483 | 90,722 74,970 | 355321 | 74970 | 355321 | 0.85 fon
TRH30VE | 4791 | 9004 | 126,003 147,000 | 677,068 | 147,000 | 677,068 | 13
TRH35VN | 5090 | 8346 | 142,722 106070 | 519,799 | 106,070 | 519,799 | 147 6
TRH35VE | 6667 |12274| 209,885 | 233,977 | 1,070,533 | 233,977 | 1,070,533 | 2.26
TRHASVL | 7572 |12808 | 2926657 | 220,751 | 1030,183 | 220751 | 1030183 | 300 | _
TRH45VE | 8852 | 16010 | 365821 | 348,554 | 1,598,703 | 348,554 | 1598703 | 3.90
TRHS55VL | 14703 | 21613 | 571,342 4N729 | 2,019,184 | 411729 | 2,019,184 | 4.42 .
TRHSS5VE | 17349 |27377| 723,699 | 670,530 | 3,148,637 | 670,530 | 3,148,637 | 5.50
TRH65VL |22526|31486| 973,074 | 695840 | 3,594,277 | 695840 | 3,594,277 | 8.66 ool
TRHB5VE | 27895 | 42731| 1,320,601 | 1,307,568 | 6,312,759 | 1,307,568 | 6,312,759 | 10.30

www.tbimotion.comtw  A65



